Genkt en Denkt *** ClubTornooi *** 4 giften per ronde *** 28/09/2018 NZ OW| gift 1 NZ OW gift 2 NZ OW gift 3 NZ OW gift 4 NZ OW

1 PECINOVSKY Robert-WYNANTS Marie Claire| 2 BEELEN Bea-HERMANS Rudi 1 2 |10.4 3.6 -100 N45S-213.9 0.1 50 W3R-112.7 1.3 100 0O1N-14.3 9.7 90 Z2R=

3 WOUTERS Monique-DE BRUIJN Ria 4 WILLEMS Hubert-DILIEN Fons 15 16|niet ingevoerd niet ingevoerd niet ingevoerd niet ingevoerd

> JANSSEN Jos-LENAERS Jan 6 DIRKX Anny-KUYKENS Miel 10 11]10.4 3.6 -100 2z4S-20.1 13. -400 N2H-4 0.1 13. -170 W3H+1 [niet gespeeld

7 MOORS Lea-DINGENS Marcel 8 LEMMENS Elly-SERROYEN Josette 4 7 |2.4 11. -300 245!1-24.7 9.3 ~110 W2R+1|2.4 11. -150 225-3| 11 3 110 23R-

9 BOELEN Jan-VANDERBIESEN Hilde 10 CASTERMANS Gerard-HENDRIKX Rosette

11 MEUWIS Louis-HEINRYCH Mathilde 12 SAENEN Rene-SMITS Peter 3 1210.1 13, ~450 wantl ‘9’3 4.7 790 W2Rs 4.7 9.3 S0 WKL) AL 3 110 23R

13 ALDERS Lea-FLAMEY Jeanine 14 CRAEGHS Miet-MEYERS Robert 13 6 |13.9 0.1 170 Z35+19.3 4.7 -90 W2R= (9.3 4.7 90 N2R= 11 3 110 Z2R+1

15 WILLEMS Lisette-SCHALENBOURG Josiane | 16 - 9 14|4.7 9.3 -200 O3H+2 (2.4 11. -300 N2N-3| 7 7 =90 OIN= |0.3 13. -100 N2H-1
5 8 7 7 -150 O4R+1 (9.3 4.7 -90 W2R= |12.7 1.3 100 W3N-14.3 9.7 90 Z2R=

NZ OW| gift 5 NZ OW gift 6 NZ OW gift 7 NZ OW gift 8 Nz OW NZ OW| gift 9 NZ OW gift 10 NZ OW gift 11 NZ OW gift 12 NZ OW

3 4 (0.1 13. -200 Zz4R!-110.4 3.6 =90 WIN=|13.9 0.1 100 W2R-10.1 13. -110 W2H= 5 6 |10.4 3.6 -90 WIN=|9.3 4.7 110 N2K+1|1.3 12. -430 O3N+1|12.3 1.7 50 WIN-1

12 15|3.6 10. -140 03s= |3.6 10. -120 WIN+1|5.9 8.1 -100 NIN-1|4.7 9.3 -90 W2K= 14 1 |0.1 13. -140 wW2H+1|2.4 11. -170 O3H+1|4.7 9.3 -420 W4H= |8.3 5.7 -90 WIN=

16 13|niet ingevoerd niet ingevoerd niet ingevoerd niet ingevoerd 8 15 7 7 -110 W2H= |11.6 2.4 120 Z2N=|8.1 5.9 -400 O3N= (4.3 9.7 -150 WIN+2

6 9 |13.9 0.1 100 0O4H-213.9 0.1 100 O1N-110.4 3.6 90 NIN= 7 7 -50 NIN-1 16 1ll|niet ingevoerd niet ingevoerd niet ingevoerd niet ingevoerd

5 14|10.4 3.6 —140RW3H=‘3.6 10. -120 WIN+1|10.4 3.6 90 NIN=|11.6 2.4 50 W2H-1 7 2 3.6 10. -120 OIN+1 (4.7 9.3 90 N2K= |11.6 2.4 -210 O2N+3niet gespeeld

1 8 |10.4 3.6 50 W4H-110.4 3.6 -90 WIN=|1.3 12. -200 NIN-2 |11.6 2.4 50 WlN—J 3 10/10.4 3.6 -90 WiN=|0.1] 13. -200 NIN-2|8.1 5.9 -400 O3N= (4.3 9.7 -150 WIN+2

11 2 7 7 =110 O2H= ‘3.6 10. -120 OIN+1(5.9 8.1 -100 NIN-1|11.6 2.4 50 OZH—J 13 4 |13.9 0.1 100 wiN-1 7 7 100 O2H-1|1.3 12. -430 O3N+1|12.3 1.7 50 W1N-1

7 10|10.4 3.6 50 O3H-13.6 10. -120 OIN+1|1.3 12. -200 NIN-2|2.4 11. -100 N2S-2 9 12|3.6 10. -120 OIN+1|13.9 0.1 150 N2N+113.9 0.1 50 O3N-10.3 13. -200 NIN-2

NZ OW| gift 13 NZ OW gift 14 NZ OW gift 15 NZ OW gift 16 NZ OW NZ OW| gift 17 NZ OW gift 18 NZ OW gift 19 NZ OW gift 20 NZ OW

7 8 |2.4 11. -200 NIN-2|11.6 2.4 80 N1S=|8.1 5.9 140 N2S+1|3.6 10. -660 O3N+2 9 10(4.7 9.3 -430 O3N+1|11.6 2.4 -110 O2K+12.4 11. -120 O2N= |9.3 4.7 -140 O3H=

2 3 |10.4 3.6 90 NIN=|13.9 0.1 150 O1N-313.9 0.1 600 N3N=|11.6 2.4 -110 02S= 4 5 |12.7 1.3 50 W3N-1 7 7 =130 W3K+1 7 7 =50 NIN-1 (0.1 13. =730 W3H!=

10 13|5.9 8.1 -100 Z1N-19.3 4.7 50 W2H-1 4.7 9.3 110 N2S= |3.6 10. -660 W3N+2 12 1 |12.7 1.3 50 W3N—£11.6 2.4 -110 W2K+112.7 1.3 120 Z2N=|9.3 4.7 -140 W3H=

15 4 |13.9 0.1 120 ZIN+12.4 11. -90 WIN= |11.6 2.4 170 N3S+13.6 10. -660 W3N+2 11 6 |1.3 12. -460 O3N+2 (2.4 11. -150 O2N+1|0.1 13. -150 N2N-31(9.3 4.7 -140 O2H+1

9 16|niet ingevoerd niet ingevoerd niet ingevoerd niet ingevoerd 15 14|1.3 12. -460 W3N+2|2.4 11. -150 O2N+11|4.7 9.3 -100 NIN-2 (2.4 11. -170 W2H+2

5 12|10.4 3.6 90 NIN=|0.1 13. -120 WIN+1 (8.1 5.9 140 N25+1|13.9 0.1 100 W3N-1 7 l6|niet ingevoerd niet ingevoerd niet ingevoerd niet ingevoerd

1 6 5.9 8.1 -100 z2N-11(5.9 8.1 -80 WlH= |1.3 12. -100 N3N-1|9.3 4.7 -630 O3N+1 3 8 18.1 5.9 -400 W3N= |11.6 2.4 -110 W2K+19.3 4.7 90 NIN= |9.3 4.7 -140 W3H=

11 14|0.1 13. -300 NIN-3|5.9 8.1 -80 OlH= |1.3 12. -100 N25-1|3.6 10. -660 O3N+2 13 2 |8.1 5.9 -400 W3N= |2.4 11. -150 OlN+2‘12.7 1.3 120 NIN+19.3 4.7 -140 W3H=

NZ OW| gift 21 NZ OW gift 22 NZ OW gift 23 NZ OW gift 24 NZ OW NZ OW| gift 25 NZ OW gift 26 NZ OW gift 27 NZ OW gift 28 NZ OW

11 12|0.1 13. -150 O1N+2 |2.4 11. -100 N2K-2 7 7 100 O3N-11(8.1 5.9 90 NIN= 13 14(2.4 11. -150 N2H-3|3.6 10. -150 WIN+2|0.1 13. =110 O2H= |12.7 1.3 150 NIN+2

6 7 19.3 4.7 -110 02s= (4.7 9.3 90 NIN= [13.9 0.1 200 0O2N-21.3 12. -110 O2H= 8 9 |10.4 3.6 =50 N2H-111.6 2.4 -110 O2K+18.1 5.9 50 02H-1{12.7 1.3 150 N1N+£

14 3 |4.7 9.3 -120 W1N+1|11.6 2.4 120 z1N+10.1 13. -110 wWls+1(8.1 5.9 90 NIN= 2 5 14.7 9.3 =100 NlN—2‘3.6 10. -150 O2N+1|12.7 1.3 120 NIN+18.1 5.9 120 NIN+1

13 8 |4.7 9.3 -120 O1N+1 0.1 13. -110 O2H= 7 7 100 W2N-1|11.6 2.4 100 W2K-2 1 10/10.4 3.6 -50 N2H-13.6 10. -150 WIN+2|8.1 5.9 50 O2R-1 2.4 11. 90 NIN=

9 2 |11.6 2.4 -90 O1N= 7 7 110 N1K+2 7 7 100 02N-1(13.9 0.1 120 N1N+J 11 4 |0.1 13. -800 N4H!—411.6 2.4 -110 O3K=1(2.4 11. -90 O2R= |2.4 11. 90 N1K+1

15 10|13.9 0.1 50 01N-111.6 2.4 120 z1N+1 7 7 100 W2N-1 4.7 9.3 -90 W2K= 7 12]10.4 3.6 =50 N2H—£11.6 2.4 -110 O2K+14.7 9.3 -50 NIN-1|8.1 5.9 120 NIN+1

5 16|niet ingevoerd niet ingevoerd niet ingevoerd niet ingevoerd 15 6 |10.4 3.6 =50 N2H—J3.6 10. -150 O2N+1(12.7 1.3 120 Z2N= 2.4 11. 90 NIN=

1 4 14.7 9.3 -120 OIN+1|11.6 2.4 120 z1N+1 7 7 100 O4H-1|1.3 12. -110 02H= 3 16|niet ingevoerd niet ingevoerd niet ingevoerd niet ingevoerd




